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Oct 5

EE301 Midterm #1

. Enter your name, student ID number, e-mail address and your full signature in the space
provided on this page.

. You have fifty minutes.

. There are 10 pages in the exam booklet. Use the back of each page for rough work, if
necessary.

. You are not allowed the use of crib sheets.
. You are not allowed the use of calculators.

. Tip: Make sure you read through the exam once before beginning. Work as quickly and
efficiently as you can. If you get stuck on a certain problem, move on to others.

. Unless otherwise instructed, no justification is necessary.

. Unless otherwise stated, no partial credit will be given, therefore work as carefully
as you can.

. Enter your answers in the spaces provided.

Name:

Student ID #: S‘ o (N:W

E-mail address:

Signature:




(a) (3 pts) Calculate Eo for z(t), i.e., the energy of z(t) over the interval (—oo, ).

Eo = f\x(&)\LA’c = 3 B = 3

(b) (3 pts) Calculate Py, for z(t), i.e., the power of z(t) over the interval (—oo, 00).

P =0, Sina Coo = 3 <20 Fo= O

(c) (2 pts) Sketch z(t — 1) below. (d) (2 pts) Sketch z(t + 1) below.
Shift vigwt by L) 1 (Shift Lefk by 1)

-4 -3 -2 -1

-1

(e) (5 pts) Sketch z(0.5t) below. (f) (5 pts) Sketch z(1 — 0.5t) below.
(EX i biwae . Shift hk& \»3 i, .
4 ,Expmk tiwas by
by 2) ' Reverse Bwae

(g) (5 pts) Sketch the even part of z(t) below.  (h) (5 pts) Sketch the odd part of z(t) below.

X (&) 4 x(-%) 1 1 XY =X -E)




2. (20 pts) Classify the following signals as periodic or Non-periodic; for periodic signals, calcu-
late the fundamental period. Enter your answers in the spaces provided.

e No partial credit will be given for any part of this problem, therefore work
as carefully as you can.

¢ No justification is necessary.

(a) (4 pts) z(t) = sin(4t + 7/8).
Siw (Wok'\'(b) \a QLU‘N-&& PC\&B'A‘CC. DNon—periodic
for awy Wo 0.

Periodic; Period = E/’L
So Wp = 'wamkkl F’Q—‘VMMUj =4 7 -
T = 'F\A,V\.A- ?(V\.D'IL= 2K = K
(b) (4 pts) z(t) = sint +sin(2t +7/8). —° %

Pevodie ) unrlh {\«»\A ))-chwL = 12[C DNon-periodic
( L\j “V\SPCCRMB gPeriodic; Period = E_L

(c) (4 pts) z[n] = e7™/8.
:\wov\

Lt(M)= e wAll, Lo = Tt/8
We . T 4 -4

-

- = ™ , Sb N=\b MPeriodic; Period :_l_é
2K 8 2K | N

D Non-periodic

(d) (4 pts) z[n] = 27 "eI™/8,
b 2 bown M Nonperiod
. . CYWA on-periodic
No¥ \DQV\G"AAC., 2. CarQe 62) po}
D Periodic; Period =

(e) (4 pts) z[n] = eln/8,

i e

Al Wo = '/8' D Non-periodic
)
Wo - A e *rmb & S0 D Periodic; Period =
21 e ’

okt



3. (10 pts) Determine if the following systems (with input z and output y) are linear or nonlinear;
time-invariant or time-varying; memoryless or with-memory; causal or non-causal; stable or
unstable.

e No partial credit will be given for any part of this problem, therefore work
as carefully as you can.

e No justification is necessary.
(8) (5 points) y(t) = 5 (x(t)).
while the ‘FY st fu\/w’ YWYRY'C\M B,Linear :I Nonlinear
e ’Y—N:Y\«j S\v“ak\: TA' JCD B/Time-invariant
\ju\&&\s) sh\oi\n% w o bit {\&c\f_sz
To Seq \ \3 - Ax‘t v L?Wb B/Memoryless ] With-memory
G U b A s 13 ‘e , Conax dov B/Causal :I Noncausal

D Stable E/Unstable

L& G—eo)

] Time-varying

(b) (5 points) y[n] =

ML' Nonli
T\' -t Vavji\:j ki inear ] onlinear
L“k 6(“4—\] > O D Time-invariant ]/Time—varying

:I Memoryless E/With—memory

Vashable & Cowatder MO fov g

Hee  brwded L huk xhny= e [ | stable E/Unstable
C S\'C\) i\/\‘)\a\)




4. (20 points) Let the impulse response h(t) of a continuous-time LTI system be
0 t <0,
Alt) = { 1 t>0.
Thus, the impulse response is simply the unit step function.

For this system, suppose the input signal is

0 -0 <t <0,
z(t) =< t 0<t<l,
1 1<t< oo

A sketch of z(t) is shown below:

z(t)

Find the output y(t), and sketch it on the graph provided on the next page.

¢ You must show all the work you did in determining y(t). Merely writing down
your answer with no justification will likely earn you zero credit.

e Work as neatly as you can.
e Use the back of this page, if you need extra space.

Whwe + <O
— %ty 4

27T

t hit-T) Sxm\«(ht\ =0
oo A

— T ‘\ﬁ&\=6!
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‘ gxm WA-DAT = Shadeharca
e _\?: \:z

-
-

,M;,_ﬂ,,__ = \jucy

Sketch the output y(t) of the system here.

y(t) }




5. (20 points)
For all parts of this problem:

e You must show all the work you did in obtaining your answers. Merely writing
down your answers with no justification will likely earn you zero credit.

e Work as neatly as you can.

The output y(t) of a causal LTI system corresponding to the input

0 —o00 < t <0,
z(t)=¢ 1 0<t<Ll,
0 1<t <oo.

18

0 —o0 <t <0.5,
y(t) = ¢ 2(t—0.5) 0.5 <t < 1.5,
2 1.5 <t < o0.

A sketch of the input z(t) and the output y(t) are shown below:
z(®) )

(a) (5 pts) Find the output of the system corresponding to the input (0.5t), and sketch it
on the graph provided on the next page.

By inspechon  X(b-5E)= X1+ X (E-1)

x (0-5%t)



S ywsiz Y vyl (frew lnaty)

Protiar wathod © to solue part (b fvst, .oy
fnd tie Oopulac Yeapmor . This boms ok b
be &awl(t-0-5) , So X (0:5t) ¥ 2ulk-0:5) = Ylo-st)
VAN Yoa Cam vw\'{\j v Tue Same o L{ﬁm

By tw way, b b NOT TROE boak  for
&MAj \«.v\_,uw S\\Sk/wx
L) +— Yy
bl X 0SH) vV ylo-5t)
(CM Yor NS U} Conditioma Wb whedh thaa

Sketch the output of the system corresponding to the input z(0.5t) here.




(b) (15 pts) Find the impulse response of the system, and sketch it on the graph below.

Melterd T L) = wEr-ulea) ) & wlaica

B aakpuk o yle =2((£-o.s)u(t,0.5)
— (£-1.s)w (k- \-S)]
Rk  wih  Sl) ddlvu)h,wj T™Mme S\-L\) Yesponad we_
WX \NM{ S(_-\:\—SLk“\\ = \jth) , SO "ko\k

Sk - slE-0) = 2 ((k-0S) Wik-09) - (£ -1syule-1-5))

. : bt
So M&b—umﬁa&w\j both Stdws W t
9 (_\L(”C- 6-8) — ‘U\(,t—-\-S)—) )

Wiy~ hWik-v =
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